

Name: Ibe Amarachi Sheila.

Matri: 1618M6061028

Dept: Mechanical Engineering.

Course: ENG 281

Date: 5/10/2017.

ASSIGNMENT

1a) $\lim_{x \rightarrow \pi/2} \left[\frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2} \right]$

SOLUTION

Let; (Numerator)

$u = x^2 - \pi/4$; $du/dx = 2x$

$v = \sin(\cos x)$; $dv/dx = -\sin x \cos(\cos x)$

Also let;

$a = \cos x$; $da/dx = -\sin x$

$v = \sin a$; $dv/da = \cos a$

$\frac{dv}{dx} = \frac{dv}{da} \cdot \frac{da}{dx}$

$\frac{dv}{dx} = \cos a \cdot (-\sin x)$

$\frac{dv}{dx} = -\sin x \cos a = -\sin x \cos(\cos x)$

$\frac{dy}{dx} = u \frac{dv}{dx} + v \frac{du}{dx}$

$\frac{dy}{dx} = (x^2 - \pi/4)(-\sin x \cos(\cos x)) + \sin(\cos x)(2x)$

$\frac{dy}{dx} = (x^2 - \pi/4)(-\cos(\cos x) \sin x) + \sin(\cos x)(2x)$

Denominator;

Let;

$m = x - \pi/2$; $dm/dx = 1$

$\lim_{x \rightarrow \pi/2} \left[\frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2} \right]$

$\lim_{x \rightarrow \pi/2} \left[\frac{(x^2 - \pi/4) - \cos(\cos x) \sin x + \sin(\cos x)(2x)}{1} \right]$

$$= \frac{(\pi/2)^2 - \pi/4}{1} - \cos(\cos \pi/2) \sin(\pi/2) + \sin(\cos \pi/2) (\pi/2)$$

$$= \frac{(\pi^2/4 - \pi/4)(-1) + 0}{1} = -\frac{\pi^2}{4} + \frac{\pi}{4}$$

$$= -\frac{\pi^2 + \pi}{4}$$

$$\therefore \lim_{x \rightarrow \pi/2} \frac{(x^2 - \pi/4)(\sin \cos x)}{x - \pi/2} = \frac{-\pi^2 + \pi}{4}$$

b) $\lim_{x \rightarrow \pi/2} \ln \left[\frac{\exp(3x^2 + 2x - 1)}{x + 1} \right]$

SOLUTION

$$\lim_{x \rightarrow \pi/2} \ln \left[\frac{\exp(3x^2 + 2x - 1)}{x + 1} \right]$$

$$= \ln \left[\frac{\exp(3(\pi/2)^2 + 2(\pi/2) - 1)}{\pi/2 + 1} \right]$$

$$= \frac{3\pi^2/4 + \pi - 1}{\pi/2 + 1}$$

$$= \frac{3\pi^2 + \pi - 1}{4} \div \frac{\pi + 1}{2}$$

$$= \frac{3\pi^2 + \pi - 1}{4} \times \frac{2}{\pi + 1}$$

$$= \frac{3\pi^2 + \pi - 1}{2(\pi + 1)} = \frac{(3\pi - 2)(\pi + 2)}{2(\pi + 2)} = \frac{3\pi - 2}{2}$$

$$= \frac{3}{2}\pi - 1$$

$$\therefore \lim_{x \rightarrow \pi/2} \ln \left[\frac{\exp(3x^2 + 2x - 1)}{x + 1} \right] = \frac{3}{2}\pi - 1$$

c) $\lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\frac{\sin^{-1}(x-2)}{(x-\sqrt{3})} \right]$

SOLUTION

$$\lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\frac{\sin^{-1}(x-2)}{(x-\sqrt{3})} \right]$$

$$= \cos \left[\frac{\sin^{-1}(2 + \sqrt{3} - 2)}{(2 + \sqrt{3} - \sqrt{3})} \right]$$

$$= \cos \left[\sin^{-1} \frac{\sqrt{3}}{2} \right]$$

$$= \cos 60 = \frac{1}{2}$$

$$\therefore \lim_{x \rightarrow 2+\sqrt{3}} \cos \left[\sin^{-1} \frac{(x-2)}{(x-\sqrt{3})} \right] = \frac{1}{2}$$

$$d) \lim_{x \rightarrow 4} \left(\frac{x^2 - 8x + 16}{x^2 - 5x + 4} \right)$$

SOLUTION

$$\lim_{x \rightarrow 4} \left[\frac{2x - 8}{2x - 5} \right]$$

$$= \frac{2(4) - 8}{2(4) - 5} = \frac{0}{3}$$

$$\therefore \lim_{x \rightarrow 4} \left(\frac{x^2 - 8x + 16}{x^2 - 5x + 4} \right) = 0$$

$$2a) \frac{2}{2 \times 3} + \frac{2}{3 \times 4} + \frac{2}{4 \times 5} + \frac{2}{5 \times 6} + \dots$$

SOLUTION

$$U_n = \frac{2}{(n+1)(n+2)}$$

$$U_{n+1} = \frac{2}{(n+2)(n+3)} \quad \text{and} \quad \frac{2}{(n+3)(n+4)}$$

$$\lim_{n \rightarrow \infty} \frac{U_{n+1}}{U_n} = \frac{2}{(n+2)(n+3)} \div \frac{2}{(n+1)(n+2)}$$

$$= \frac{2}{(n+2)(n+3)} \times \frac{(n+1)(n+2)}{2}$$

$$= \frac{(n+1)}{(n+3)}$$

$$\lim_{n \rightarrow \infty} \frac{n+1}{n+3} = \frac{1/n + 1/n}{1/n + 3/n}$$

$$= \frac{1 + 1/n}{1 + 3/n}$$

$$n \rightarrow \infty; \quad 1/n \rightarrow 0; \quad 3/n \rightarrow 0$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = 1$$

$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = 1$; \therefore the series is either divergent or convergent.

$$\lim_{n \rightarrow \infty} \frac{2}{(n+1)(n+2)} = \frac{2/n}{n^2 + 3n + 2}$$

$$= \frac{2/n^2}{1 + 3/n + 2/n^2} = \frac{0}{1} = 0$$

\therefore the series is convergent since $\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = 0$.

b) $\frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots$

SOLUTION:

$$\sum_{n=1}^{\infty} 2/n^p$$

$$p = 2$$

since $p > 1$; \therefore the series converges.

c) $u_n = \frac{1+2n^2}{1+n^2}$

SOLUTION:

$$\lim_{n \rightarrow \infty} u_n$$

$$\lim_{n \rightarrow \infty} \frac{1+2n^2}{1+n^2} = \frac{1/n^2 + 2}{1/n^2 + 1}$$

$$n \rightarrow \infty; \quad 1/n^2 \rightarrow 0$$

$$= \frac{0+2}{0+1} = 2$$

since $\lim_{n \rightarrow \infty} u_n \neq 0$, \therefore the series is divergent.

$$3.) \quad \frac{x}{27} + \frac{x^2}{125} + \dots + \frac{x^n}{(2n+1)^3}$$

SOLUTION:-

$$U_n = \frac{x^n}{(2n+1)^3}$$

$$U_{n+1} = \frac{x^{n+1}}{(2(n+1)+1)^3} = \frac{x^{n+1}}{(2n+2+1)^3} = \frac{x^{n+1}}{(2n+3)^3}$$

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{U_{n+1}}{U_n} &= \frac{x^{n+1}}{(2n+3)^3} \div \frac{x^n}{(2n+1)^3} \\ &= \frac{x^{n+1}}{(2n+3)^3} \times \frac{(2n+1)^3}{x^n} \\ &= \frac{x(2n+1)^3}{(2n+3)^3} \end{aligned}$$

$$\lim_{n \rightarrow \infty} \frac{x(2n+1)^3}{(2n+3)^3}$$

$$\lim_{n \rightarrow \infty} \frac{x(8n^3 + 12n^2 + 6n + 1)}{(8n^3 + 36n^2 + 54n + 27)}$$

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{8xn^3 + 12xn^2 + 6xn + 6}{8n^3 + 36n^2 + 54n + 27} \\ = \frac{8x + \frac{12}{n} + \frac{6x}{n^2} + \frac{x}{n^3}}{8 + \frac{36}{n} + \frac{54}{n^2} + \frac{27}{n^3}} \end{aligned}$$

$$n \rightarrow \infty; \quad \frac{12x}{n} \rightarrow 0, \quad \frac{6x}{n^2} \rightarrow 0, \quad \frac{x}{n^3} \rightarrow 0, \quad \frac{36}{n} \rightarrow 0, \quad \frac{54}{n^2} \rightarrow 0, \quad \frac{27}{n^3} \rightarrow 0$$

$$= \frac{8x + 0 + 0 + 0}{8 + 0 + 0 + 0} = x$$

$$\lim_{n \rightarrow \infty} \frac{x(2n+1)^3}{(2n+3)^3} = x$$

$-1 \leq x \leq 1$, \therefore the series is convergent.

$$4.) \lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{\cos x + \sin x}{3x^2} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{-\sin x + \cos x}{6x} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{-\cos x - \sin x}{6} \right]$$

$$= \frac{-\cos(0) - \sin(0)}{6} = \frac{-1 - 0}{6} = -\frac{1}{6}$$

$$\therefore \lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right] = -\frac{1}{6}$$